THAEE 7TAFRMETFR SRHEFR

(B4 FH)

= & #IE | #HIERTDEE WWIEZE &t
— fi% & &t E35 9,101,373 65,857 9,167,230
ERERRKRER=E 1,865,697 1,865,697
B EnEERRNN &5 216,620 216,620
nTERRKR®S N = 1,017,830 1,017,830
NEY—ERERSE 31,226 31,226
TKRKEFEXRNRE 1,009,622 1,009,622
MK RERFINRE 3,627 3,627
w & & 14,378,223 65857| 14,444,080




O—M =it FIBTMWETFHE RAKHE

(Bfr:FH)

i B fHIERTDEE| 4 IE %8 &t HEBEOELAR
1 H i 4,776,386 4,776,386
2 K E 5 49,600 49,600
3 M O F A X & = 2,000 2,000
4 B OB B X £ 10,000 10,000
5 MAZFREMBIXGE 9,000 9,000
6 EAFTEBIXMNE 105,568 105,568
7 WMAHEHEBRIMNE 582,000 582,000
8 BEMHRIAXF= 6,000 6,000
9 M A H X MF & 22,000 22,000
10 #1 A X f B 1 1
1 XBEREAEFINRATE 3,900 3,900
12 2#EERVEESR 119,540 119,540
13 EFAMRYFHH 52,901 52,901
14 B E X H % 1,450,343 35,085 1485428 xRMFRHRESEHBFRIBIELERDS
15 B *x H 4 784,938 30,772 815710| - £ EABHERALEXIESHNTSLERDE
16 Bt E 1 A 29,595 29,595
17 & 5] & 130,002 130,002
18 #2 A & 634,578 634,578
19 #& 4 i 30,000 30,000
20 &% 1 A 242,321 242,321
21 HT &' 60,700 60,700

m AN A& & 9,101,373 65857 9,167,230




O—il =it FIFTMWETFHE RMHKRRE

(Bfr:FH)
il B fHIERTDEE| 4 1E %8 & HEBEOELAR
1 & & 7 81,020 81,020
2 #& % 7 1,314,594 1,314,594
3 R % # | osae3s| 65857 sarsder| R R h
4 @ % & 788,735 788,735
5 % & = 2,745 2,745
6 B M K E X & 53,989 53,989
7 ™ I & 558,389 558,389
8 = K & 913,026 913,026
9 H ;] = 323,845 323,845
10 % ] = 1,166,566 1,166,566
nm K F # B # 0 0
12 2 & & 537,229 537,229
13 & 52 H i 1,601 1,601
14 % ] & 10,000 10,000
m & F 9,101,373 65857| 9,167,230




